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‘Does a person
blink more if
they are
unaware their
blinks are being
counted’

Hypothesis and Question
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Producing the question

While producing the question we had few ideas that made sense. Our first
question was :

s+ How many times does a person blink while factorising.

We decided not to use this question because it seemed too vague and we
thought we would not be able to get enough information from it.

We decided to go with Poses a question
: that anticipates

variability

and seeks
generalisation
We chose this because it gave us a clear route for the data we were looking

for.

\ I Hypothesis

N\ ’

*+ A person blinks less when they are

aware their blinks are being counted
We chose this as our hypothesis because this
is what we thought the answer to our question
would be
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Variables
Identifies variables
What we measured: and indicates how
= — . they will measure
** The amount of blinks and the time taken the independent
and dependent

variables
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How we collected the data

< 1.If we were to count the number of times a person blinked, we decided we wanted them to
be completing a task e.g. reading a paragraph or solving some type of problem

% 2. We originally wanted a paragraph to be read, but we decided against it and went on
theme with 2 maths problems to be solved in 2 minutes or under

#+ 3. We chose 2 quadratic equations to be factorised
Chosen measuring

il A ) 5 j strategy will
9 }(2}" _l, _2, ‘{ "JI 4= prOVid?'Villid cixr}cd
reliable data

5x2+13x-6

Data collection

How we collected the data e

variability affects
validity and
reliability

“» We started to ask our peers to take part in our experiment after finding out our idea. Sample size

¢ We asked them to take up the question and asked them to complete the task within only 2 selected shows
) awareness of how
minutes. e

variability affects

% Second, we told them we had their blinks counted and asked them to ask the next reliability
question. )

: . Chosen measuring

+ First, my partner and I worked together as we felt that we had lots of time to have more strategy will

than 30 respondents. provide valid and

“ Later, we realized this wouldn't succeed and split up to do the testing. reliable data

¢+ Fortunately, we were able to get 30 people in time

% Also due to the current Covid-19 situation we felt 30 was enough people
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People who took part
13 boys 17 girls

0% 10% 200% 30% 40 50% B0% T0% B0% 0% 100%

mBoys mGils

Glasses Eye Colour

HEBlue mGreen mBrown

Gathers and
displays data

Question Results I —

2
10
0 B

Wi We were surprised to see only 7 out
e of 30 people had managed to get the
right answer for question 2

= No Glasses = Glasses
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Blinks Q1 Time (mins) Blinks Q2 Time (mins)
-none 37s 1] 43s
HH 1:46 HH 11 48s
HHHH 1:18 HH- HH HE- 1 2:00
HH- 1 1:54 1} 56s
HHHHEAHE HHH 2:00 HHHHHH 2:00
HH B 1:35 1 49s
n 1:59 I 1:03 cﬁ:;{;?j;;i
Y 1:13 HH 2:00
HE 1:25 HH | 57s
HH HHHHE- 1 2:00 HH- 11 1:07
HH 1:10 1] 59s
HH HH 1:00 Hi 1:18
HH B HH HH- - 1:52 1] 1:27
HH HHHE 1:37 HH 1 1:43
[l 39s I 42s
BinkoQt | Time(mine) |BinksQ@z | Time (mins) |
<HEHHHE 1:49 HH 11 2:00
ITITRTITRTITHTITRTITRII 1:11 JTTTRTTINIT] 2:00
HH- | 44s 1 54s
1 46s Il 1:04
HHHHH HH 1 59s HiHHHHY 1:03
HH I 1:05 i 52s cﬁ:;:;: ;;Ca‘
I 49s none 43s
<HEHH 1:29 HEN 47s
A HE T 1:29 HH 1T 53s
-1 1:55 1] 1:22
HH HH 1T 1:42 HiEHH I 1:29
I 1:00 TTTRTTIRTITNT] 1:52
HH 1 1:59 ] 1:58
| 1:20 I 565
1} 1:05 ] 51s
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Blinks Q2 Blinks Q1

8777776554444332222221 [0/ 01222446668889°9
8877555 1 1114558
2/002256 . .
Displays datain a
318 way that allows
patterns to be
Key: 111=11 blinks identified

BLINKS Q1 AND Q2

—Blinksql Blinks g2

Displays data
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Averages for blinks (q1)

0+1+2+2+2+4+4+6+6+6+8+8+8+9+9+10+10+11+11
+11+14+15+15+418+20+20+22+422+25+26+30= 345
Although
measures of
centre are
calculated no
attempt is made to
use them to

Most common term. 2,6,8,11 describe the data

Median
Add 15% and 16t term

—(30 + 1) = 15.5th term
2( ) 9+10 =§ = 9.5 blinks

Range and Interquartile range blinks Q1

Range
Highest term.: 30 Lowest term.: 0 Range = 30 blinks
Although
measures of
1 centre are
Lower Qua rtlle calculated no

T T attempt is made to
6+4=""="5 Lower Quartile = 5 blinks use them to

' describe the data

Upper Quartile

‘;(30 +1) =23.25term Upper quartile = 18 blinks

A 4

7(30+1) = 155¢th term

Interquartile Range
Upper quartile — Lower quartile (18-5) = 13 Interquartile range = 13 blinks
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Averages for blinks (q2)
0414242424242 42434 3+4+4+ 4+ 4454546+ 7+7+T7+7+ 209_ 6.96 blinks Although
7+8+15+15+15+17+17+18+18=209 30 measures of
centre are
calculated no
attempt is made to
use them to
describe the data
Most common term. 2 blinks
5(30+1) = 15.15th term Add 15" and 16" term= 5+5 =2 = 5 blinks
Range and Interquartile range blinks (q2)
Range
Range = 18 blinks Highest term.: 18 Lowest term.: 0

' Although
O measures of
Lower Quartile casures of

1(30+1)=7.75% term stci/andeiiteint: sta=-Howeruartie = calculated no
- 2blinks attempt is made to
' use them to

describe the data

Upper Quartile

3(30 + 1) = 23.25th term round up to 24" term Upper quartile =8

\ 4

Interquartile range

Upper quartile — Lower quartile (8-2) = 6 Interquartile range = 6
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Question1g  ——Question 2

Averages for times (q1)

M+2.00m+1.10m+1.00m+1.52m+1.37m+1.49m+1.11m+44s+4 S g
65+595+1.05m+49s5+1.29m+1.29m+1.55m+1.42m+1.00m+1.59 30
m+1.20m+1.05m+42s5= 34:10 '
JUE
Most common term: 1:29,1:05,2:00mins

an

1
5(30+1) = 15.5th term Add 15" and 16" term= 545 = 2% = 1: 19mins

Displays data

Although
measures of
centre are
calculated no
attempt is made to
use them to
describe the data
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Range and Interquartile range for
timeS (q 1) (assuming we rounded up)
Range
Highest term.: 2:00 -Lowest term.: 0:37mins= Range= 1:63mins
' Although
- measures of
t
Lower Quartile entre are
% (31) =7.75' term = 8t term Lower Quartile = 1:00min attempt is made to
use them to
' describe the data
Upper Quartile
% (31) =7.75th term = 8th term Upper Quartile=1:49mins
Interquartile Range
Interquartile range = 1:49-1:00 Interquartile range= 0:49mins
Averages for times (q2)
’ y 5 ' : 176 : Although
"““Z’TZ%,‘:?TZémiﬂﬂiﬁﬁsﬁ?ﬁﬁﬁm’“ﬂ“ measures of
centre are

calculated no
attempt is made to
use them to
describe the data

Most common term 2:00mins

5(30 + 1) = 15.5th term Add 15 and 16" numbers= % = 1: 03mins
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Range and Interquartile range for
times (q2)

Range

2:00 — 0:42mins Range =1:14mins
’ Although
. measures of
Lower Quartile centre are
calculated no
% (31) =7.75'™ term = 8t term Lower Quartile= 0:52mins attempt is made to
use them to
' describe the data

Upper Quartile
% (31) =23.25% term =24th term Upper Quartile= 1:52mins

A 4

Interquartile range

1:52 — 0:52mins Interquartile range= 1:00min

Problems

%+ Towards the end, we miscounted and thought we had 30 people. However, we only had 29 so
we had to rapidly find another person to do it.

< Some people were very busy doing their own cba which made it harder for us.

<+ Many people couldn’t remember how to factorise and some even decided to forfeit (and they
might've gotten extra homework from their teacher for not knowing how to factorise)

<+ We also struggled with finding other maths classes due to room changes which wasted time.

- INTERQUARTILE RANGE: PROBLEMS

— We were both using 2 different methods to get the interquartile ranges which caused us to
get different answers.

— In the end we ended up using the 2 different methods, as they were both right (after
consulting with our maths teacher)
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What we could have done better

«+ » We agree that more people should have been involved (50 +) to do this
experiment/investigation

#* The margin of error would have been smaller and the experiment more precise. We believe
this would be possible if we split up for the first few days to compile the data.

#+ * We should have also made our working neater as we found it difficult to find things

«+ « Additional math.

Conclusion

¢+ 83% of people blinked less during
the 2nd question.

¢ In conclusion, people do blink less
when they are aware and blink
more when they are UNAWARE.

“»* We proved our hypothesis

Reports the
findings and the
conclusion refers
to the original
question
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Overall judgement: = Inline with expectations

'NCCA

{E Exceptional {E Above expectations {= In line with expectations == Yet to meet expectations
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